HEVDHLDLVE (1)

M45+6=T75xvs

@5+2=2n%01

® 28 +-8=35hxv4

@11+3=35#%v2

®46+9=5nxv1

®19+-4=45zv3

MD50+7=T7#nxv1

®48+5=95xvs

@D11+-2=5sFv1

10034+4=8#sxv2

mEZ (

1 3+-3=4m»xv1

1259+-6=9%»zvus

B2 7+-5=5basxv2

@1 7+3=5s%kv2

1 6=-7=25»v1

©25+4=6nxv1

D7 4+8=9 »%v2

14 3+-5=8»%v3

193 2+-9=3szvs

Q1 9+-6=3m»xv1



HEVDHLDLVE (2)

D36 +-7=55sxv1

@22 2=+-3=T7sxv1

® 9+-2=4p»%v1

@D21=+-6=3»Fv3

®6 9+-8=8nxvn4

®38+-4=9%sFv2

M13+5=2#5%v3

®52+-8=6nsxv4

@8 8+-9=9sxv7

029 +7=45xv1

mEZ (

@ 15+2=Tstv1

4 3+-8=5Hsxv3

® 8 +-6=1mtv2

61+7=8%#%v5

24+-9=2s=vs

©39+5=Tnx04

6 6+7=9%xvs

@®15+-4=3nxv2

©25=+6=401

Q2 5+3=8#»xv1



